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lilrr)lm + 3cm3mm = 3cm7mm gcl)mSmm — 3mm = 7cmbmm
égzc)m + | lcmdmm = 17cm4mm g?mSmm —5mm = 8cm3mm
2(?r)lm + 8cm7mm = 8cmYmm Sz)m lmm — 5cm = 4cmimm
I(4I)cm5mm + 7cm = 18cmbmm gé)m |lmm — 2cm = 3cmIimm
I(iZcm Ilmm + 2mm = |4cm3mm (Ilg)cmétmm — 2mm = | 5cm2Zmm
li?mémm + 3cm = 7cmb6mm gg)m |lmm — 6cm = 3cmlimm
3(7¢>m + 2cm9mm = 5cmY9mm gz)ranm — Ilmm = 7cmZmm
S(i)mémm + Imm = 5cm7mm (Ilz)cmme —b5cm =1 lcmZmm
5(2:)m'7mm + Ilmm = 5cm&mm (Ilg)cmCJmm —Y9cm = 6cmY9mm
223nC7mm + 6cm =10cm9mm (Izg)cmétmm — Imm = 15cm3mm
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